www.das-bastelteam.de ->Ldsungen: Teilermenge Blatt Nr.:482
Zahl geht max. bis 100.

T = {1,2,7, 14}

T100= {1, 2,45, 10,20, 25,50, 100 }
T, = {1,2}

Tes = {1,236, 11,22, 33,66}
Tes = {1,2 4,17,34,68}

T.s = {1,2,3,6,13, 26,39, 78}

Ty = {1,37})
Tas = {1,2,17,34}
T = {1,779}
Tig = {1,2,4,8,16}
T3 = {1,13}
Tig = {1,19}

Tso = {1,2,4,5,8,10, 16, 20, 40, 80 }
Ty, = {1,2,3,4,6,12}

Tes = {1,5,13,65}

Tss = {1,5,11,55}

Te = {1,2,3,6}

Tor = {1,7,13,91}

Tss = {1,2,29,58}

T = {1,2,5,7,10,14,35,70}

T3 = {1,73}

To; = {1,3,9,27}
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